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o
X
X X
X
R =
R E = (1 R)/B B
E 1
R
H(x) = exp( x272) (2mt) /2 | (3.1)
G(x) = th>x H(t) dt , (3.2)
G(x)
B (> 1)
(X,Y) = (x,y) P (x,y)
P
P (x,y) = H(x) H((y x)/o) /o (3.3)
y=C C
Prob( Y C ) = 1/B , (3.4)
Prob(...) .
Prob( Y C ) = er Cp(x,y) dx dy .
R
R = Prob(Y C n X d) / Prob( X d) , (3.5)
d
Prob( X d ) = 1/B , (3.6)
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(3.4).,(3.5),(3.6) (3.3)
6(c (1+a?y 2y = 1/ |, (3.7)
E = (1L R)/B
= FH(X) 0(9;;5) e (d x) dx , (3.8)
O (x) x 0 1 x<0 0 ,
G(d) = 1/B . (3.9)
(3.7),(3.8),(3.9)
1 N (N 1)
k (k=1,..., N) B (>1) B = By...By
(1) (N) XoYqseons Yy
(X1Y1 1111 YN) (X1y1 """ yN) p(X1y1 """ yN)
P
P (x,y) = H(X) P (y1.x) - P yyy-X) (3.10)
pk(yk,x) = H((yk x)/ck) /ck , k=1,2,..., N,
k Cy (k=1,..,N)
Dy = { Yy Cp 3, k=l,..., N, Ch
Prob( Dyn...nD, ) = 1/(8, By) k=1,..., N (3.11)
k=N (3.11) (= 1/ )
R
R = Prob( Dyn...nDyn{X d} ) /7 Prob(Xx d) , (3.12)
d (3.6) (3.9)
E = (1 R)/B = 1/B R/B
E = Prob( Dyn...nDyn {X<d} ) . (3.13)
N=2 (3.11),(3.13) c X
é— =1 = FH(x) G( ir ) dx , (3.14)
1 1
C X C X
1. = H(x) G( 1 ) G( 2 ) dx (3.15)
B =¥ 0'1 0'2 )
E = (1L R)/B
Cl X C2 X
= FH(x) G( o ) G( o ) ©(d x) dx . (3.16)
1 2
C,(Cy)
0'1(cr2)
(3.9),(3.14),(3.15),(3.16)
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B: , Blz
C1 (CZ):
E=(1 R)/B, R:

G(d) = 1/B ,

1 C1 X
B_ = FH(x) G( o ) dx
1 1
1 C1 X Cl X C
EZIH(X) G(c ) + 1 G6( ) G(
1 1
C1 X C2 X
=1 J"H(X)G((j )G((j ) dx ,
1 2
(3.18)
C1 X C X C X
E = JH(X) G(o ) + 1 G( ) ( ) ©
1 1 2
C1 X C2 X
= FH(x) 6( 01 ) G( 02 ) ©( d x) dx .
(3.9),(3.17),(3.18),(3.19)
1/B- =1 1/B , 1/B. =1 1/B ,
1 1
d” = d , c 7= C , C_ "= C ,
1 1 2 2
(3.9)(3.17)(3.18)(3.19)
1/B* = G(d*7 ) ,
1 Cl" X
s FHO) (T ) dx ,
By 99
1 Cl" X C2" X
g~ J H(X) G(G—) G(G—) dx ,
1 2
Cl" X C2" X
E = FH(x) G( p ) G( i ) © (d~ x) dx .
1 2
20) E

(3.17)

(3.18)

(3.19)

(3.20)

(3.21)

(3.22)

(3.23)

(3.24)
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(3.9)(3.14)(3.15)(3.16)
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e} 0
(@)
2.1/2
C=d (1L + o)
3
2 2 2
E=_o exp( d/2) {1 o (1+ d)} ,
2Tt 3 8
2 2 2
=1 Bo exp( d/2) {1 o (1+ d)}
2Tt 3 8
G(d) = 1/8B ,
o 2) (3.8)
B r=0.
.9 1%
(e} r B
r= .8000 (o .5625) r= .9000 (o = .2346)
B R d B R c
1.2 .93 ! -1.3 -1.0 1.2 .95 -1.1 -1.0
1.4 .89 ' -0.8 -0.6 1.4 .92 -0.7 -0.6
1.7 .83 '-0.3 -0.2 1.7 .88 : -0.2 -0.2
2.0 .80 ' 0.0 0.0 2.0 .86 ! 0.0 0.0
2.4 .76 0.3 0.2 2.4 .83 : 0.2 0.2
3.6 .69 : 0.8 0.6 3.6 .78 1 0.7 0.6
6.3 .62 . 1.3 1.0 6.3 .73 1 1.1 1.0
(8,) (B=B B,)
C.):
() .
= 1 EB

(4.

(4.

(4.

(3.

1)

2)

3)

9)

6%
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B B
R
O =0
R B
B (3.9) e}
6) R c
R C =C
o) R
C_ ¢
(e} 3
G(d) = 1/B ,
d 1 2 2 4 3
c = d /T o+ &1 = v 1 — /(12-T)
o ;) 1 o oo+ @ 1 1 o /aavm)
2
1/8, = 6(C) + o CH(C)/2 ,
B. = B/B. ,
2 1
v = (C d)/o
E = o H(C) + G(VH(V) + Co (H(V)2 + 2 )72
£ (c2 1) o2 (5 + 36(V)H(V) + 4v  +2vH(V)?)/12
= VG(VIH(V) H(V)? ,
- M2 g2 s22vy o+ H(WGe(Y)
R=1 E B
o -0 B -1
1 10 2
o (r)
r=0.9 2
1.7 1.
10 1.6
r=0.80 o =0.56 r=0.90 o =0.23 r=0.95 o =0.11
B B B R B B B R B B B R
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2 1.6 1.2 .83 2 1.7 1.2 .88 2 1.8 1.1 .92
3 2.2 1.4 .77 3 2.3 1.3 .84 3 2.5 1.2 .89
4 2.7 1.5 .73 4 2.9 1.4 .81 4 3.2 1.3 .87
5 3.1 1.6 .71 5 3.5 1.4 .79 5 3.9 1.3 .85
6 3.5 1.7 .69 6 4.1 1.5 .78 6 4.6 1.3 .84
8 4.3 1.8 .66 8 5.2 1.5 .76 8 5.9 1.4 .83
10 5.1 2.0 .64 10 6.2 1.6 .74 10 7.2 1.4 .83
O £ O (3.9),(3.14),
(3.15),(3.16) R B
o -Oo o -Oo
(e} 1 {cr1 1y o, 1} / 2

€ ={o, o,}/ {oc,; + oy} .,

O &

B = 1/G(d)
C1 = C + crls:E:L ,

C2 = C crzszéiz ,

C=d o/At + d 1 — crz + (d2 1) 1 4 cr3/(12\#t) ,
2 Tt TT
€2 &1:= 3v+2 v v 27 2,
E
E-1+EZ = + Co( +2v ) [/ CcrH(v)2 ,
2
vy -C d
O
= VE(VIH(V) H(V)? ,
=t Y2 gn)? 622yy  + H(V)G(V)
1/8, = 1/8, cE(1+e)E (H(C) + oleCH(C) ,
1/8, = 1/B + o H(C) 1 + i_z c2c? 1) /vt
R =1 EB,
1 2 2
E=E + EO'S. H(C) {3 + H(v)G(v) + 2v 2 / 3},
E = o H(C) + G(VIH(V) + Co (H(W2 + 2 )Y/2
£ (C2 1) o2 (5 + 3G(V)H(V) + 4v  +2VH(Vv)2)/12
o =o
(3.20)
O =0
o 2
R
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©

0 W o O

] =1 o BH(d) p + o2 BH() dgq ,
1] =1 o BH(d) p o238 H() dgq .
P, ¢ o B r= 1/vV 1t
= r G(r)2 + 2 H(r) G6(r) + r G(rv2) 0.3287 ,
= rZG(r)2 + r H(r) G(r) + rZG(r\/Z) + H(r)2/2 0.0094
(3.9) B>2 B<2
> 2 RL 1 > RL 1.
< 2 RL 1 < RL 1,
2
o r
=1
t
t =1 . (5.1)
t (t)
t +t /B =1 . (5.2)
B 1
t (t)
t +t (1 1/B ) = 1 . (5.3)
B
t
2 2
o = cro / t cro (5.4)
o
(5.4)
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(5.4)

(5.1),(5.4)

(3.15),(3.9),(5.2),(5.4)

(3.20)

t B ,B R[ 1]

RL 1 1
r =0.90 o =0.23
B . t /t B r R . R ' R[
2 ! 1.2 1.6 1.3 0.84 0.86 0.85 | 0.85 | 0.85
3 ! 1.4 2.3 1.3 0.85 0.89 0.8L | 0.79 | 0.78
4 ' 1.6 2.9 1.4 0.86 0.90 0.79 ' 0.75 ! 0.73
5 + 1.9 3.6 1.4 0.86 0.92 0.78 ' 0.73 ' 0.70
6 '+ 2.0 4.3 1.4 0.86 0.93 0.77 : 0.71 : 0.68
8 + 2.3 5.6 1.4 0.87 0.93 0.75 : 0.68 : 0.64
r =0.95 o =0.1
B . t /t B r R R ' R[
2 ! 1.3 1.7 1.2 0.92 0.93 0.90 ! 0.90 ! 0.90
3 | 1.6 2.5 1.2 0.92 0.95 0.87 | 0.86 ! 0.85
4 ' 1.8 3.2 1.3 0.92 0.96 0.86 ! 0.83 | 0.82
5 + 2.0 4.0 1.3 0.93 0.96 0.85 ' 0.82 ' 0.80
6 2.2 4.7 1.3 0.93 0.97 0.84 : 0.80 : 0.78
8 + 2.5 6.2 1.3 0.93 0.97 0.83 : 0.78 : 0.76
2
9
(2)
2-8
2
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(3.14),
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(3)
5,6 2
2 2
(3.20)
1/B- 1 1/B, 1/B -1 i/ , 1/B -1 1/B ,
B, B
B t/t , r ,r
E=(1 R)/B R
2
r t /t B B B B
0.9 1.2 1.6 1.3 2.7 4.8
0.95 1.3 1.7 1.2 2.4 6.6
N 1
1
B (>1)
r O C(N) N
R 1 E = (1 R)/B 0
E(N) = boH(d) /7 x(N) + (6.1)
b
[e 0]
b = exp{ exp(x)} dx
(e 0]
Y = JFO exp( y) log y dy (Euler ),
xX(N)
X(N)Z(N 1) = H(X(N))/(1 G(x(N))) (6.2)
H, G (3.1),(3.2) d B (3.
9) x(N) (6.2) N
1/2
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Xx(N) = (2 log N) + N oo , (6.3)

(6.1),(6.3) E(N) - O
N E(N) log N

r

(3.9),(3.11),(3.13)
172
I

1/B exp( x2/2) dx (2711)

x>d

1/B = J exp( x2/2) [G({C(N) x}/cr)]N dx (2711) 172 ,
2 N 1/2
E(N) = er<d exp( x /2) [G({C(N) x}/o )] dx (21t)

lim G( x(N) x/x(N))N = exp{ exp( x)} ,

N - oo
C(N)
C(N)2 = (o x(N) d)2+2\/c72 + o(NO) , C(N) <0,
N
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